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ENGLISH VERSION

Instructions :

(1) All question are compulsory.

(2) Marks are on right side of question.

1 (a) Write the properties and uses of normal distribution.10

(b) For a normal distribution 31% observations are less then10

45 and 92% observations are less then 64. Find parameters

of the distribution.

OR

1 (a) Write the properties and uses of hyper geometric10

distribution.

(b) For a normal distribution QQ??19,27 . Then find 513

median, mean, quarlite deviation and standard deviation.

(c) For a normal distribution first quarlite is 70 and variance5

is 225. Find 50% range of observations.

2 (a) State the properties and uses of geometric distribution.8

3
(b) The probability of hitting a target by Yash is . Find the 6

5
thprobability of hitting a target first time at 5 attempt.

Find

mean and variance.

1
(c) The probability of getting a Head is  for unbiased coin.6

2

A person tossing a coin continuously. Find the probability
th thof getting 6 Head at 10 attempt. Find mean and variance.

OR

2 (a) Write properties and uses of Negative Binomial distribution.8

(b) In a box there are 6 white and 4 red balls. From a box four6

balls are taken at random one by one. Then find the probability

that (1) All the drawn ball are of white colour (2) two balls

of each colour.

2
(c) If probability of success is  then find  and 15px(0)?

3

variance.
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3 Explain : 15

(1) Theory of Runs.

(2) Variations in Quality.

(3) Construction of C-chart.

OR

3 (a) Draw  and R Chart : 10X

SampleNumber 12345678910

X 24283035201418202229

R 35418952103

[5,0.58,02.11]nADD???? 234

(b) Draw number of defects (C) chart : 5

Number 12345678910

Numberofdefects2556151756

4 Explain : 15

(1) Single sampling plan

(2) Producer's Risk and consumer's risk

(3) AQL and LTPD

OR

4 For a single sampling plan (4000, 100, 2) Draw AOQ, ASN and15

ATI curve. Find AOQL.
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